
Calendar Answers

1. 10

2

2

2. Any equivalent fraction e.g., 6/20,
9/30, 12/40

5.23. 
42 cm4. 

5. 4

6. Y - 29

7. 0.4
8 . 2, 3, 5, 7, 11, 13, 17, 19, 23, 29

9 . 3 packets

10 . 50 trees

11 . An acute triangle has three acute angles (less than 90 degrees)

30. 57,591  
31. b = 3

18. X = 3

19 . 7 days

20 . £12.50

21 . Y 
22 . Three million, three hundred and fifty thousand, three hundred and 

eighty-four 

23. An obtuse angle is greater than 
90 degrees but less than 180 
degrees  

24. 400 packs 

25. C = 80

26 . 64 

13. 450 minutes 

14. 72 meters 

12. 6.05 am

29. 185.2

28. 200,000

27. Draw a sphere 

15 . 4 for Abi, 12 for Bill and 20 for Cam  

16. 6.10pm 

17. A line of symmetry cuts a shape into equal halves/ parts 


